M.Tech. Entrance Test — 2013 (AKU, Patna)

Subject: Electrical Engineering

Time: - 1Y Hrs. Full marks: 50

INSTRUCTIONS: -There are four options given for a guestion. You have choose the correct
option/s. Candidates are required to submit this Question paper with
answer book.
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The “type” of a transfer function denotes the number of

(a) Zeros at origin (b) Poles at infinity
(c) Poles at origin (d) finite poles
The characteristic equation of a system is
28" +45+9=0
The system is
(a) Critically damped (b) under damped
{c) Over damped (d) none of these
The steady state error for a type 3 system in following a unit step input is
(a) Zero (b) Infinity (c) one {d) none of these
The frequency at which Nyquist diagram crosses the negative real axis is known as
(a) gain crossover frequency (b) phase crossover frequency
{(c) natoral frequency (d) breakaway point

Which of the following is an open-loop control system?
(a) Field controlled d.c. motor. (b) Ward Leonard control.
(c) Armature controlled d.c motor.  (d) Stroboscope.

The open loon transfer function of a unity feedback system is given by G(8) = -
EFESSE N ystem is given by G(8) = s 6+ 9)

The number of asymptotes of the roof locus plot that tend to infinity is given by
(@)1 ®2 . ©0 @3

A system which has some roots with real parts equal to zero, but none with positive real parts, is
(a) relatively stable, (b) marginally stable, (c) absolutely stable, (d) absolutely unstable

A wire is placed on the top of a transmission line acts as
(a) acts as a phase wire :
(b) acts as neutral
(c) acts as a transmission wire
(d) acts as ground wire
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Corona losses are minimized when
(a) conductors size is reduced
(b) smooth conductor is used
(c) sharp points are provided in the line hardware
(d) current density in conductors is reduced

. The ac voltmeter using PMMC measures
(a) true RMS voltage,
(b) peak voltage
(c) average voltage
(d) instantaneous voltage

In a 20kohm/V sensitivity multi-meter, the input resistance for measuring ac voltage in 10V full scale
deflection is .

(a) 200kohn

(b) 20kohm

(c) 10kohm

(d) 2kohm

Kelvin’s bridge is used to measure (a) voltage (b) current (c) power (d) resistance

When measuring power with an electrodynamometer wattmeter in a circuit having a low power factor:
(a) The current coil should be connected on the load side
{b) The current coil should be connected on the supply side
(c) A compensated wattmeter with pressure coil connected on the load side
(d) The presuure coi! should be connccted on the load side should be used

I5. The conductor of a 10 km long, single phase, two wire line are separated by a distance of 1.5 m. The
diameter of each conductor is 1 cm, If the conductors are of copper, the inductance of the circuit is

(a) 50.0 mH

(b) 45.3 mH

(c)23.8 mH

-(d)19.6 mH

The per unit impedance ofa circuit element is 0.15. If the base kV and base MVA are halved, thea the new
value of the per unit impedance of the circuit element will be

(a) 0.075

(b)0.15

(c) 6.30

(d) 0.600 n

Maximum power transfer through line V1= 110 kv, V2= 100kv, X=22 ohm is

(a) 500 MW

(b) 500 KW

(c) 250 MW

(d) 250 KW

Zero sequence currents doesn't exist in the following fault
(a) LG
(b)L-L
() L-L-G
(d)L-L-L-G
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